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[ON[SOLUTION _——— —  —  —  [yinks Tcommmer -
Ql | 1~ 5 B '_‘]"*——*fﬂrm—-__.___
| el | |
| LCM = 24x | M1
| 6 = 5(4) — 7(24x) | MI |
6 =20 — 168x ‘ |
| 168x = 14 r M1 |
i ( = Ay = { Al ;
; apes Trr ol B 12 y
‘ |
; = i oy
Q@ | B
'; V2%x52% + 2% e
/‘22xx52x M1
7/ 102%%
10% MI
Al
04
Q3 | a2 -b? =(a+b)(a-b) MI =
2557% - 25472 |
=(2547+2547)(2547-2547) M 1
=51040 Al
04 20
Q4 | 2(2-x) <4x -9 <x+]1
2(2-x) <4x-9 4x-9<x+11 Ml For both
4-2x <4x-9 3x<20
13<6x 6x<40 M1 For both
=13<6x< 40
2 % <x< 6; 12: _Fc;rqln;&g;a!
inequ
(x;x= 23,4,5,06) For integral
value
Q5 | Let centre of enlargement be =
o M
X 4 _ Xy (0
(}/) - (6) =3 [(y) \2)] Mi
xX=4Y . ( 3% )
(v o 6) ~\3y-6




I x- 4=3xandy-6=3y—6
2x=-4and2y =0 5 + For both
x=-2andy =0 p
i centre (—2,0) SRS e LS Al e T
Q6 |2x=2¢ | Ml *
=2x%2-2x =0 Mi
2x(x-1)=0 | M1
2x=0  or x-1=0 |
x=0 e, R A . BN o e e T SPadsi il
Q7 | Letexterior anglebe B L e TS
| Interior angle is 5B
B +5B =1809 M
} oB :ESO() ;
| B =30° Al
' No of sides =3609/30° | M1
| = 12 Al
104 £
Q8 Mass f cf f f
(@) 40-44 3 3 ' Bl | For...c.f
| 4549 8 11 | |
| 5054 17 28 |
; 55-54 10 38
| 60-64 2 40 ! |
Median class is 50-54 ' Bl ' Stating accept
| | 49.5-54.5
(b) median 49.5+(40/2 -11) 5 ;
17 M1 |
=49.5 +45/17 | |
=52.147 |
=52.15 Al Sl | s o ]
04 | |
Q9 o
N R~
N |
> ’
: 28\ "
|
B+2B=90° ; al
3B=90" s
~200
0=30 MI ‘ I
Length of ladder = —— Al ; :
s
| o




. ‘.ﬁB'i Bl FesF -5
| BI
e — e = __’RMI A ]‘_7 "
e, | O‘ _—‘__‘l
1) Let the numbers be X and y R *‘ki : =
X -y-=';_>9 ....................................... (i) | M1 |
B T o s v vy e (if) Ml |
from (i) X2y =(x+y)(xy)-39 | |
| 3(x+y) =39 | |
| oxky =13 R | M1 |
(1) +(ii1) 2x =16 ' M [
. x= § Al
Puting  x =8 into (ii) ‘
-y =3 i
83=y | '
‘ =3 i Al
(b) :
Man Son Prodoct
Now | 4n n | Bl
4n-8 | n-8 220 Bl
(n-8)(n-8) =220 M
4n? -8n-32n+64 =220
4n? -40n-156 =0
n? -10n -39=0 | '
n3-13n+13n-39=0 M Iforming .
n(n-13)+3(n-13)=0 il |
(n-13)(n+3) =0 | M |
-13=0 or n+3=0
2=13 ni ~3 factorizing |
n=13 i
sons age is 13years o J
L
12 ;




[=12 a) G

—— et e et e

Weight 1tally frequ;ncy F _fgﬁmﬁ___———'f_l__—_—] | i‘
145-149 | // 147 | 294 2
150-154 il | | 5 SIS Lael e , B1 -weight
| 155-159 | /i1 i i&) 157. 11413 - 116 Bi- freg |
| 160-164 | /i1 i1 110 162 | 1620 26 | | MI-x ;
165-169 | /illil |7 167 [ 1169 |33 | | M1 —fx :
170-174 | /7/// B U172 <[ 860 |38 | | AT=Th= ;
11175-179 1/ @2 177 | 354 40 6470 |
| \Zf= 30 | = BI-Yf =40 [
L_ ' | 6470
b(i) mean weight = 1 = 6470 M1
S 40
=161.75 Al
(1i) median weight
=159.5 +(40/2 -16)5 M| |
! |
=159.5 +20/10 | |
=161.5 Al |
(i) modal weight
=159.5 +(1/(1+3)) 5 MI
=159.5 +5/4
=160.75 Al




!
s

{

ol oo o

i R §
. il

11
4

A

§

4

e o bt e s

&

e b BRI

ooy
1
s

-
i

b o

o i B

“# 3

E

4 : i
b rerp §
: &

B

e gty

5 .

i
e

S . |

1

T3

s
' W B

B R

R

bt

R
- et st

e

 EBES E
WRER

AR
1
= ke U
TR O SN B0
) i
=t
eyt s
it 4

bt ot~

BENER

b




|

S ce—

MARKS

1Nﬂ

' Al

| M1

[QN _TsoLomoN
IQH(a) T A’ -5B
A2= 1 -1 [Ll |
| o 2) o2 |
[1-3
04 |
4B %[;6]
u=3J
C= 13] : E-21
04 2 3
= [0 -1
B
(b) 3x -4y =2
6x + y=13

18]

M]@ oLl
o A0 G
o) B

27x =54 x=2
27y=27 vy=1

M1

M1

M1

M1

Al
Al
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| 3) <ABO =3¢ BI |

% <ABC=6(" | |
<AOC = 2X6(9 | |
= 1209 ' BI |
Arc length AC =120 x3.142x6x2 M |
360V | |
= 12.568 ¢m ’ /
< OCA = ¥%(60%)=3(° } MI [
AC = 6 | |
sin 120Y  sin 30V ‘ },
= 10.392 |
Perimeter = 12.568 +10.392 / |
» = 22.960 | M1 J
=230 cm Al |
b) (1) let <DAT =20
=20+0+20+20° = 180° Ml
50 =160
0 =320 Al
<DAT =2x32
=64 Al
(ii) < ADC =180°-(64+329) M1
=180° -96
=840
<ABC = 180° -840 | M1
=90 RERNE . ) O
12
Ql6
a) < ok "B ¢ T (1) B1
30000x + 2000y > 30000........ (2) Bl
Or 3x + 2y > 30 J
XS YO VS X ieinsvsinsssinn (3) Bl
b) Drawing line x + y = 15 and B1
shading(8,7), (10,5) or (5,10)
Drawing line 3x + 2y = 30 and Bl
shading (10,0), (0,15), (6,6)
Drawing line x = y and shading B1
(0,0) or (5,5)
Correct unshaded region Bl
Point of interest are (3:12), (4,113
C) ,(3,10) ,(6,9) ,(7,8) Bl
Maximum amount is at (7,8)
l.e. 7kg of tomatoes and 8kg of { BI1 B1
onions
amount spent (7 x3000) + (8x2000) ) M1
=21000 + 16000 |
" =sh37,000 _J_{\L‘__ .
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Q17

' Matrix(2 1]
(a) 1]

|
1

Determinant = (2x1 )- (1x1)
= 2 -]

Inverse = .

l!'—-"-—nl
PNO

(b) O’P’Q’R O PQR
EZJ E) 6 83 0312
| Q| 03 7 00 6
(¢) | 000.0) P (3,0) Q(1,6) R(2,6)
(d) iConect diagram with correct scale
'\Area of OPQR
=3X6

= 18 square unit
Determinant of matrix i1s |

Area scale factor 1

Area of O'P’Q’R IS 1X I8
=18 sq unit

b—
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